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Time :  3 Hours]  [Max. Marks : 70 
 
ÍÛæ̃ Û¶ÛÛ :   (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõÛé •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
Instructions :  Figures to the right indicate marks. 
    (2) …Û×ïõ¦øÛÉÛÛÍªÛàýÛ ïõÛéÌ¤øïõÛé ÜÈÛ¶Û×©Ûà¬Ûà …Û¸ÛÈÛÛ¾ÛÛ× …Û¸ÛÉÛé. 
     Statistical tables provided on request. 
    (3) ÍÛÛþùÛ •Û¨Û¶ÛýÛ×ªÛ¶ÛÛé Š¸ÛýÛÛé•Ûà ïõÁõà ÉÛïõÛÉÛé.  
     Simple calculator can be used. 
 
1. (a) Ü¶ÛýÛ©Û ÍÛ¼Û×µÛÛ×ïõÛé¶ÛÛ •Ûä¨ÛµÛ¾ÛÛë ÍÛÛÜ¼Û©Û ïõÁõÛé.  4 
  Prove the properties of regression coefficient.  
    …¬ÛÈÛÛ/OR 
  y ¶Ûä× x ¸ÛÁõ¶Ûä× …¶Ûé x ¶Ûä× y ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé …¶Ûä’õ¾Ûé a1x + b1y + c1 = 0 

…¶Ûé a2x + b2y + c2 = 0 ™öé. x …¶Ûé y ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ¼Û×µÛÛ×ïõ ¾ÛéÇÈÛÛé …¶Ûé ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ 
a1b2 < a2b1. 

  The equations of regression lines y on x and x on y are respectively                       
a1x + b1y + c1 = 0 and a2x + b2y + c2 = 0. Obtain correlation coefficient between 

x and y and prove that, a1b2 < a2b1. 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨ÛÛé ¾ÛéÇÈÛÛé : 5 
x 

y 
20 – 50 50 – 80 80 – 110 110 – 140 

5 – 15 18 4 – – 
15 – 25 2 14 1 – 
25 – 35 – 2 3 2 
35 – 45 – – 1 3 

  Obtain the regression equations from the following data : 
x 

y 
20 – 50 50 – 80 80 – 110 110 – 140 

5 – 15 18 4 – – 
15 – 25 2 14 1 – 
25 – 35 – 2 3 2 
35 – 45 – – 1 3 

…¬ÛÈÛÛ/OR 
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  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà y ¶Ûä× x ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û ¾ÛéÇÈÛÛé : 
x 

y 
45 – 50 50 – 55 55 – 60  60 – 65 65 – 70 

150 – 160 6 2 – – – 
160 – 170 4 16 11 – – 
170 – 180 – 10 15 6 – 
180 – 190 – – 8 9 4 
190 – 200 – – – 4 5 

  Find the regression line of y on x from the following data :   
x 

y 
45 – 50 50 – 55 55 – 60  60 – 65 65 – 70 

150 – 160 6 2 – – – 
160 – 170 4 16 11 – – 
170 – 180 – 10 15 6 – 
180 – 190 – – 8 9 4 
190 – 200 – – – 4 5 

 (c) y ¶Ûä× x ¸ÛÁõ¶Ûä× …¶Ûé x ¶Ûä× y ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 5 
  2x – 5y + 40 = 0 
  10x – 9y = 120 
  ©Ûé¬Ûà,   (i) x …¶Ûé y ¶ÛÛé ¾ÛµýÛïõ ¾ÛéÇÈÛÛé.  
    (ii) y = 40 ÐüÛéýÛ ©ýÛÛÁéõ x ¶Ûä× …¶Ûä¾ÛÛ¶Û ïõÁõÛé.  
    (iii) x = 60 ÐüÛéýÛ ©ýÛÛÁéõ y ¶Ûä× …¶Ûä¾ÛÛ¶Û ïõÁõÛé.  
  The equations of regression line of y on x and x on y are respectively as follows : 
  2x – 5y + 40 = 0 
  10x – 9y = 120 
  Hence,  (i) Obtain the means of x & y. 
    (ii) Estimate x when y = 40.  
    (iii) Estimate y when x = 60. 

…¬ÛÈÛÛ/OR 

  ›Ûé –x  = 26.7, –y  = 508.4, sx = 4.6, sy = 36.4 …¶Ûé r = 0.52. ¼Ûé Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ Áéõ”ÛÛ…Ûé 

ÉÛÛéµÛÛé …¶Ûé x ¶Ûà Ýïõ¾Û©Û¶Ûä×÷ …¶Ûä¾ÛÛ¶Û ïõÁõÛé ïéõ šýÛÛÁéõ y = 600 ÐüÛéýÛ …¶Ûé y ¶Ûà Ýïõ¾Û©Û¶Ûä× 
…¶Ûä¾ÛÛ¶Û ïõÁõÛé šýÛÛÁéõ x = 22 ÐüÛéýÛ.  

  If  –x  = 26.7, –y  = 508.4, sx = 4.6, sy = 36.4 and r = 0.52. 

  Find the two regression lines and estimate x when y = 600 and y when x = 22. 
 

2. (a) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛÐüÍÛ×¼Û×µÛ …é¤øÅÛé ÉÛä× …¶Ûé ©Ûé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ›ä÷þùÛ-›ä÷þùÛ ÍÛæªÛÛé …Û¸ÛÛé. 4 
  What is multiple correlation ? And give the different formula to obtain it.  

…¬ÛÈÛÛ/OR 

  …Û×ÜÉÛïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ …é¤øÅÛé ÉÛä× …¶Ûé ©Ûé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø¶Ûà ›ä÷þùà-›ä÷þùà ºõÛé¾ýÛæÙÅÛÛ (ÍÛæªÛÛé) ¾ÛéÇÈÛÛé. 
  What is partial correlation coefficient ? And state different formula to obtain it. 
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 (b) …éïõ ÜªÛ˜ÛÅÛàýÛ ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø   5 

  –x1 = 28.02, –x2 = 4.91, –x3 = 594 

  S1 = 4.4, S2 = 1.1, S3 = 80, 

  r12 = 0.8, r13 = – 0.4, r23 = – 0.56 

  x2 = 6 …¶Ûé x3 = 650 ÐüÛéýÛ ©ÛÛé x1 ¶Ûä× …¶Ûä¾ÛÛ¶Û ïõÁõÛé.  

  In a trivariate distribution  

  –x1 = 28.02, –x2 = 4.91, –x3 = 594 

  S1 = 4.4, S2 = 1.1, S3 = 80, 

  r12 = 0.8, r13 = –0.4, r23 = – 0.56 

  Estimate x1, when x2 = 6 & x3 = 650 

     …¬ÛÈÛÛ/OR 
  …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà x1 ¶Ûä× x2 …¶Ûé x3 ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û  

  r12 = 0.70, r13 = 0.60, r23 = 0.40 

  1 = 3, 2 = 4, 3 = 5 

  Using the given data, determine the regression equation of x1 on x2 and x3 : 

  r12 = 0.70, r13 = 0.60, r23 = 0.40 

  1 = 3, 2 = 4, 3 = 5 

 (c) …éïõ ÜªÛ˜ÛÅÛàýÛ ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø    5 
  S1 = 3, S2 = 5, S3 = 5 

  r12 = 0.7, r23 = r31 = 0.6.  

   (i) …Û×ÜÉÛïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ r12.3 ÉÛÛéµÛÛé. 

   (ii) ¼ÛÐäü˜ÛÅÛàýÛ ÍÛÐÍÛ×¼Û×µÛÛ×ïõ R1.23 …¶Ûé  

   (iii) Ü¶ÛýÛ©Û ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ b12.3 ÉÛÛéµÛÛé.  
  In a certain trivariate distribution  
  S1 = 3, S2 = 5, S3 = 5,  

  r12 = 0.7, r23 = r31 = 0.6.  

  Find  : (i)  partial correlation coefficient r12.3  

     (ii)  multiple correlation coefficient R1.23 and  

     (iii)  Regression coefficient b12.3. 

     …¬ÛÈÛÛ/OR 

  ¶Ûà˜Ûé …Û¸ÛéÅÛà ¸ÛóÛýÛÛéÜ•Ûïõ ¾ÛÛÜÐü©Ûà¶ÛÛé ÍÛ¾ÛæÐü ÉÛîýÛ ™öé ? 
  (i) r23 = 0.8, r31 = – 0.5, r12 = 0.6 

  (ii) r23 = 0.7, r31 = – 0.4, r12 = 0.6 

  Is it possible a set of given experimental data ? 
  (i) r23 = 0.8, r31 = – 0.5, r12 = 0.6 

  (ii) r23 = 0.7, r31 = – 0.4, r12 = 0.6 
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3. (a) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé :    4 
  Write short note on : 
  (i) Ü¶Û¨ÛÙýÛÛ©¾Ûïõ Ü¶ÛþùÉÛÙ¶Û 
   Judgement sampling 
  (ii) ïõÈÛÛé¤øÛ Ü¶ÛþùÉÛÙ¶Û 
   Quota sampling 
  (iii) Í¶ÛÛé¼ÛÛéÅÛ Ü¶ÛþùÉÛÙ¶Û 
   Snowball sampling 
    …¬ÛÈÛÛ/OR 
  Ü¶ÛþùÉÛÙ¶Û …é¤øÅÛé ÉÛä× ? Í©ÛÁõà©Û ýÛÛ´ùÜ˜™öïõ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 
  What is sampling ? Explain stratified random sampling method. 
 (b) ¸ÛÜþùïõ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.  5 
  Explain systematic sampling method with illustration.  
    …¬ÛÈÛÛ/OR 
  ¸ÛÜþùïõ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û¶ÛÛ ÅÛÛ½Û-•ÛéÁõÅÛÛ½Û ÍÛ¾Û›ÛÈÛÛé.  
  Explain the merits and demerits of systematic sampling method. 
 (c) ÍÛ¾ÛÜÌ¤ø ©Û¸ÛÛÍÛ …¶Ûé Ü¶ÛþùÉÛÙ ©Û¸ÛÛÍÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  5 
  Explain the difference between population survey and sample survey. 
    …¬ÛÈÛÛ/OR 
  Ü¶ÛþùÉÛÙ …é¤øÅÛé ÉÛä× ? ÍÛÛÁõÛ Ü¶ÛþùÉÛÙ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
  What is sample ? State the characteristics of a good sample. 
 
4. (a) ¸ÛÛ×˜Û ïõþù¶Ûà …éïõ ÍÛ¾ÛÜÌ¤ø¶ÛÛ …ÈÛÅÛÛéïõ¶ÛÛé 4, 6, 12, 18 …¶Ûé 20 ™öé. ©Ûé¾ÛÛ×¬Ûà ¼Ûé ïõþù¶ÛÛ Ü¶ÛþùÉÛÛë 

¸ÛäÁõÈÛ¨Ûà ÁõÜÐü©Û ¸Û±ùÜ©Û¬Ûà ÅÛˆ ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ,  4 

  (i) E(–y) = 
–
Y  

  (ii) V(–y) = 
N – n

N  . 
S2

n   

  (iii) E(s2) = S2  
  The observation of a population of size 5 are 4, 6, 12, 18 and 20. Taking all 

possible samples of size 2 by not repeating any observation from this population, 
prove that  

  (i) E(–y) = 
–
Y  

  (ii) V(–y) = 
N – n

N  . 
S2

n   

  (iii) E(s2) = S2  
…¬ÛÈÛÛ/OR 

  6 ïõþù ÈÛÛÇà …éïõ ÍÛ¾ÛÜÌ¤ø¾ÛÛ× yi ¶Ûà Ýïõ¾Û©ÛÛé 2, 5, 0, 8, 12 …¶Ûé 9 ™öé. ©Ûé¾ÛÛ×¬Ûà 2 ïõþù¶ÛÛ ÉÛîýÛ 
¼ÛµÛÛ ›÷ Ü¶ÛþùÉÛÛë  ÅÛˆ (¸ÛäÁõÈÛ¨Ûà ÁõÜÐü©Û) ¶Ûà˜Ûé¶ÛÛ ¸ÛÁõà¨ÛÛ¾ÛÛé ˜ÛïõÛÍÛÛé : 

  (i) E(–y) = 
–
Y 

  (ii) V(–y) = 



1

n – 
1
N  s2 

  (iii) E(s2) = S2   



DH-111  5 P.T.O.  

  The values of yi in a population of size 6 are 2, 5, 0, 8, 12 and 9. Taking all 

possible random samples of size 2 without replacement from it and examine the 
following results : 

  (i) E(–y) = 
–
Y 

  (ii) V(–y) = 



1

n – 
1
N  s2 

  (iii) E(s2) = S2 

 (b) …éïõ ÍÛ¾ÛÜÌ¤ø¶ÛÛ 10 …ÈÛÅÛÛéïõ¶ÛÛé¶Ûé ¼Ûé Í©ÛÁõÛé¾ÛÛ× ¶Ûà˜Ûé ¾Ûä›÷¼Û ÈÛÐêü˜ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé : 5 

Í©ÛÁõ I 3 5 8 10 14 20 

Í©ÛÁõ II 21 23 25 27   

  ¸Ûó¬Û¾Û Í©ÛÁõ¾ÛÛ×¬Ûà ýÛÛ´ùÜ˜™öïõ Áõà©Ûé 3 …éïõ¾ÛÛé¶Ûä× …¶Ûé ¼Ûà›Û Í©ÛÁõ¾ÛÛ×¬Ûà ýÛÛ´ùÜ˜™öïõ Áõà©Ûé 2 …éïõ¾ÛÛé¶Ûä× 

Ü¶ÛþùÉÛÙ ¸ÛÍÛ×þù ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. V(–yst) ¾ÛéÇÈÛÛé.  

  Ten observation of a population are divided into two strata as follows : 

Stratum I 3 5 8 10 14 20 

Stratum II 21 23 25 27   

  Random samples of 3 unit from the first stratum and that of 2 units from the 

second stratum are selected. Obtain V(–yst). 

…¬ÛÈÛÛ/OR 

  ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà 20% ¶ÛÛé Í©ÛÜÁõ©Û ýÛÛ´ùÜ˜™öïõ Ü¶ÛþùÉÛÙ ¸Ûó¾ÛÛ¨ÛÍÛÁõ ÈÛÐêü˜Û¨Ûà Ðéü¥øÇ 
¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé …¶Ûé ©Ûé Š¸ÛÁõ¬Ûà Í©ÛÜÁõ©Û Ü¶ÛþùÉÛÙ ¾ÛµýÛïõ¶ÛÛé ÜÈÛ˜ÛÁõ¨Û ÉÛÛéµÛÛé :  

Í©ÛÁõ Í©ÛÁõ¾ÛÛ× …éïõ¾ÛÛé¶Ûà ÍÛ×”ýÛÛ Í©ÛÁõ¶Ûä× ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 

I 300 4 

II 500 6 

III 200 5 

IV 500 4 

  Obtain stratified random sample of 20% under the proportional allocation from 
the following data and hence find variance of stratified sample mean. 

Stratum No. of units in 
stratum 

Standard deviation 
of stratum 

I 300 4 

II 500 6 

III 200 5 

IV 500 4 
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 (c) …éïõ ÍÛ¾ÛÜÌ¤ø¶Ûà ïõÛéˆ …éïõ ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ¶ÛÛé …½ýÛÛÍÛ ïõÁõÈÛÛ ¾ÛÛ¤éø 15 …ÈÛÅÛÛéïõ¶ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û 
…Û¸ÛéÅÛ ™öé. ©Ûé¾ÛÛ×¬Ûà 3 ïõþù¶ÛÛ ÉÛîýÛ ¼ÛµÛÛ ›÷ ¸ÛÜþùïõ Ü¶ÛþùÉÛÛë ÅÛˆ ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ ¸ÛÜþùïõ 
Ü¶ÛþùÉÛÛë¶ÛÛ ¾ÛµýÛïõÛé¶ÛÛé ¾ÛµýÛïõ …é ÍÛ¾ÛÜÌ¤ø ¾ÛµýÛïõ ™öé. Š¸ÛÁõÛ×©Û ¸ÛÜþùïõ Ü¶ÛþùÉÛÙ ¾ÛµýÛïõ¶Ûä× ÜÈÛ˜ÛÁõ¨Û 
¾ÛéÇÈÛÛé :     5 

’õ¾Û 1 2 3 4 5 6 7 8 9 10 

…ÈÛÅÛÛéïõ¶ÛÛé 12 7 5 6 14 8 11 0 3 7 

’õ¾Û 11 12 13 14 15      

…ÈÛÅÛÛéïõ¶ÛÛé 10 6 4 9 3      

  15 observations of a population are given in the following information for 
studying some characteristic of a population. Taking all possible systematic 
samples of size 3 from it, prove that the mean of systematic sample is equal to 
the population mean. Also obtain the variance of the systematic sample mean : 

Number 1 2 3 4 5 6 7 8 9 10 

Observations 12 7 5 6 14 8 11 0 3 7 

Number 11 12 13 14 15      

Observations 10 6 4 9 3      

…¬ÛÈÛÛ/OR 

  12 ïõþùÈÛÛÇà …éïõ ÍÛ¾ÛÜÌ¤ø¾ÛÛ× yi ¶Ûà Ýïõ¾Û©ÛÛé 4, 3, 0, 1, 6, 5, 8, 7, 11, 15, 8, 16. ©Ûé¾ÛÛ×¬Ûà 

˜ÛÛÁõ ïõþù¶ÛÛ ÉÛîýÛ ¼ÛµÛÛ ›÷ ¸ÛÜþùïõ Ü¶ÛþùÉÛÛë ÅÛˆ ÍÛÛÜ¼Û©Û ïõÁõÛé ïéõ, E(–y) = 
–
Y ©Ûé¾Û› V(–ysy) 

¾ÛéÇÈÛÛé.  
  The values of yi in the population  of size 12 are 4, 3, 0, 1, 6, 5, 8, 7, 11, 15, 8, 

16. Taking all possible systematic sample of size four from it, prove that          

E(–y) = 
–
Y. Also, obtain V(–ysy). 

 

5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  
 Give the answer following questions : 

 (1) ¼Ûé Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛÛ×ïõÛé 0.8 …¶Ûé 0.2 ™öé ©Ûé Š¸ÛÁõ¬Ûà ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ ÉÛÛéµÛÛé. 1 
  The two regression coefficients are 0.8 and 0.2, hence find the correlation 

coefficient. 

 (2) y ¶Ûä× x ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û y = – 3 + 
x
2 …¶Ûé x ¶Ûä× y ¸ÛÁõ¶Ûä× Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ ÍÛ¾ÛàïõÁõ¨Û 

x = – 7 + By …¶Ûé r = 0.1 ÐüÛéýÛ ©ÛÛé B ¶Ûà Ýïõ¾Û©Û ÉÛÛéµÛÛé. 2 

  The regression equation of y on x is y = – 3 + 
x
2 and that of x on y is x = – 7 + By 

and r = 0.1, find the value of B. 

 (3) ›Ûé b12.3 = 0.1705, b21.3 = 2.7225 …¶Ûé b13.2 = 0.0659 ÐüÛéýÛ ©ÛÛé r12.3 ÉÛÛéµÛÛé. 1 

  If b12.3 = 0.1705, b21.3 = 2.7225 and b13.2 = 0.0659 then find r12.3. 

 (4) x2 …¶Ûé x3 ÈÛ˜˜Ûé¶Ûä× ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûä× ÍÛæªÛ ›÷¨ÛÛÈÛÛé.   1 

  State the formula of correlation coefficient between x2 and x3. 
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 (5) Í©ÛÁõà©Û Ü¶ÛþùÉÛÙ¶Û¶ÛÛ ¼Ûé ŠþùÛÐüÁõ¨Û …Û¸ÛÛé.    1 

  Give two examples of stratified sample. 

 (6) Ü¶ÛþùÉÛÙ¶Û¶ÛÛ ¼Ûé ºõÛýÛþùÛ…Ûé ÅÛ”ÛÛé.   1 

  Write two advantages of sampling. 

 (7) ›Ûé N = 50 …¶Ûé n = 10 ÐüÛéýÛ ©ÛÛé ¸ÛÜþùïõ Ü¶ÛþùÉÛÙ¶Û¾ÛÛ× Ü¶ÛþùÉÛÙ¶Û …×©ÛÁõ¶Ûà Ýïõ¾Û©Û ÉÛä× ¬ÛÛýÛ ? 2 

  What is the value of sampling distance in systematic sampling if N = 50 and             
n = 10 ? 

 (8) 7 ïõþùÈÛÛÇà …éïõ ÍÛ¾ÛÜÌ¤ø¾ÛÛ×¬Ûà 3 ïõþù¶ÛÛ ýÛÛ´ùÜ˜™öïõ Ü¶ÛþùÉÛÙ ¸ÛäÁõÈÛ¨Ûà ÍÛÜÐü©Û …¶Ûé ¸ÛäÁõÈÛ¨Ûà 
ÁõÜÐü©Û¶Ûà Áõà©Ûé ïéõ¤øÅÛÛ ÅÛˆ ÉÛïõÛýÛ ?   2 

  How many samples of size 3 can be selected with replacement and without 
replacement from a population of size 7 ? 

 (9) ›÷ýÛÛÁéõ ÍÛ¾ÛÜÌ¤ø ÜÈÛÍÛ¾ÛÛ×•Û ÐüÛéýÛ ©ýÛÛÁéõ ïõˆ Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û ÈÛÛ¸ÛÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 1 

  Which sampling method can be used when population is heterogeneous ? 

 (10) Ü¶ÛþùÉÛÙ¶Û¶Ûä× ïõþù ¶Û‘õà ïõÁõÈÛÛ ïõýÛÛ ¾Ûä°ùÛ…Ûé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ ›Ûéˆ…é ? 2 

  What point should be you consider while determining the sample size ? 

 
____________ 
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